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Vl Semester B.Gom. Examination, Septembei/Oetober 2023
(CBCS Scheme)

COMMERCE
Management Accounting

Time:3 Hours Max. Marks:70

lnstruction : Answers should be written completely in English or in Kannada.

SECTION _ A

cqDrl - o

1. Answer any five sub-questions. Each sub-question carries two marks. (5x2=10)

ob{orddo o& wd-{,doilvd erudo,l. {,3 en:d-{,d*zi odd: eodrl$:.

a) What is Gross Working Capital ?

dge.t rod, uodaa9 aodded: ?

b) State any tvvo objectives of Management Accounting.

odrdma d{5Jtd add: erudedzlgdtr.3e1.

c) Write any four components of current liabilities.

{,fgd dodnoodo$ ob{oaddra oawd eodd9dtr dno&.

d) What is Current Ratio ?

{,lod u&aad aodded: ?

e) What is lnternal Analysis ?

uodod ed-edd aodded: ?

f) Mention any two objectives of Management Reporting.

Odrdro ddanoodob obdloaddo add; erodedzl9dl Ddogro.

g) What is Cash Flow Statement ?

dzid: dod dtg oodded: ?-eJ

P.T.O.
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SECTION _ B
^^-J ^qe,/qJoJ I - (",,/

Answer any three questions. Each question carries six marks.

ol>{oaddo d)lo& 4,d4il9ri erodoAl. €,,9 €,d4ri eld: etodzld;.

2 Iililtl|fl ililtlilrrilrilil ill

(3x6=18)

2. Brielly explain the role of Management Accountant.

0drdd d1-t%d dEgd$ io8q-lR ado:J.

3. From the following information, calculate following ratios.

a) Quick Ratio.

b) Stock Turnover Ratio.

c) Debt-Equity Ratio.

Current Assets - 12,00,000, Opening Stock - 1,20,000, Closing Stock -
3,20,000, Cost of goods sold - 46,00,000, Equity Share Capital - 16,00,000,

'l 0% Preference Share Capital - 6,00,000, 12% Debentures - 6,00,000,

Current Liabilities - 6,00,000, General reserves - 4,00,000.

€r dddod drr&8obod de96d ud:aadddl dod)bAobo.

a) dood e,d:uod.

b) mn-adr dba)[.o erdJ6!d.

c) 5ao-€s8d["3 erabaad.

zraO sr&ildo - 12,00,000, sdorpd me& - 1,20,000, da)Foddd me& -
3,20,000, ,dErdq dDuJBd d?3,r- 46,00,000, ;od>d, ded: uodandd draq

16,00,000, 10% udroo dedr uodaag - 6,00,000, 12o/" xaesdd_rt1$b - 6,00,000,

aroO aaaun0zl9: - 6,00,000, xad>d, a)eieJ - 4,00,000.
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4. From the following details find out funds from operations of Jet Airways.

-.1 63624

Salaries

Depreciation written off

Profit on sale of Fixed Assets

Discount on Debentures written off

Loss on sale of lnvestments

Preliminary expenses written off

Proposed Dividend

Transfer to Debenture Redemption Fund

Dividend Received

t
17,000

30,600

28,000

40,000

4,000

16,000

1,00,000

40,000

9,000

dddod eddilgod dnf sofdefd rJo$r iouoQ a3r,Ddu3drlgod ud)d 0Qo$d1

dou$&Ao})0.

dedd

BddQ dadriooAodd)

:6d {9lil9 dDorod ero?P

raod$ zl9 d:eOd oqlrobeo$dl dcdiing&d)ddJ

droadild dDoaoaod d{
daddroeAd djodrspe $?$r

{e&d otpaod

ree.:d$219 adraez3d DQd dmFoblDdd)

,ledo&d oqnod

17,000

30,600

28,000

40,000

4,000

16,000

1,00,000

40,000

9,000

I
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5. The profits of a company are declining year by year. As a Management
Accountant of the company, draft a brief report to the Management explaining
the reasons for declining profits.
t-od: dodDoJ: saqJd ddrood ddrdo daaboiJarued. sr dod&o$ dqdoEn qddd

radearlddtr io8*4mn &dotu r.od) ddao$dtr doiDoA).

6. Prepare a Comparative lncome Statement from the following.

Particulars 3143-2021 31-03-2022

{<
Sales 21,50,000 25,00,000

Cost of goods sold 1 3,00,000 14,50,000

Operating Expenses:

lnterest 1,40,000 1,20,000

lncome Tax 1,70,000 2,30,000

* d$nd dJa&.gobod eroaoJ:d dre.:oadrd dqoJrd)* dolDorr.

adddqb 31-03-2021 31-03-2022

t<
dDo-r83 21,50,000 25,00,000

dDoo€3 draad ndEd dq 13,00,000 14,50,000

ool>rz3d#ol: daflst:

Administrative Expenses

Selling Expenses

Non-Operating Expenses :

erded dzd

dDoood duJ

rJ olJa Fdddo$ e.r d dzJ 219:

c3

2,10,000

1,90,000

2,10,000

1,90,000

1,40,000

1,70,000

1,80,000

2,50,000

1,80,000

2,50,000

't,20,000

2,30,000or:a{r Js*\J("J.,\.llJ gr\Jt I
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SECTION _ C
a?o>d - rl

Answer any three questions. Each question carries 14 marks.

ddnd ob{mddra drJa6 4, 4i'l9rl erDdo&. Eg dd_ri 14 erodrlg:.

31-03-2021

t
31-03-2022

{

Assets 31-03-2021

t
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(3x14=42)

31-03-2022

t

7. From the following Balance Sheets of PVR Cinemas Ltd., Prepare

a) A Statement showing changes in working capital b) Funds Flow Statement.

Liabilities

Share Capital 4,00,000 5,00,000 Land 4,00,000 4,80,000

General Reserve 80,000 1,40,000 Machinery 3,60,000 2,60,000

P&LA/c 64,000 78,000 Stock 2,00,000 2,52,000

Bank loan

(Long Term) 3,20,000 80,000

Debtors

Bank

1,60,000

1,04,000

1,28,000

18,000

Creditors 3,00,000 2,50,000

Provision for Tax 60,000 90,000

12,24,OOO 11,38,000 12,24,OOO 11'38,000

Additional lnformation :

a) During the year 2022 a dividend of t 84,000 was paid'

b) Assets ol another company were purchased lor a consideration of T 'l ,00,000

payablebytheissueofsharesandtheassetsincludeLand{50,000and
Stock t 50,000.

c) lncome Tax paid during the year t 70,000'

d) Depreciation written off on Machinery t 24,000 and Land T 45'000'



53624 |ilil|]flfllt]iltil1ililillllr

PVR :rpdDsd Otudrs.ddd erl d:q ai6'r?tooo d$,, d9dodo9d. a) z3duodaas

odenddoi: dqdt + b) oO doed dqoJrq ddDo:).

-o-

31-03-2022a 31-03-2021

{

(J&d$b 31-03-2021

t
31-03-2022

t

ded: a;odaag 4,00,000 5,00,000 drotu 4,00,000 4,80,000

md>d, a)eie:: 80,000

eDC d:q d{and 64,000

gDd 066 :iDO

(a€il)rdQ) 3,20,000

FDodDdcb 3,00,000

dorlron a)eie.)) 60,000

12,24,OOO

1,40,000

78,000

80,000

2,50,000

90,000

11,39,000

o1:o$d*t:

(rcr.Uc, O.r.l

rbrdil$t

ea.od:
d

3,60,000 2,60,000

2,00,000 2,52,000

1,60,000 1,28,000

1,04,000 18,000

12,24,000 11,39,000

ddddn6og:u

a) do. 84,000 erdqDodddi 2022 d0_":J-deierrRd.

b) ded:il9 Add#o$ droe.rd aJed dod&o$ e;Alrld$ $Oeadcrrnd) , oeilg de;,
?.Jjatu - 50,000 drdl me& - 50,000, ?"t D* d,ag dro. 1,O0,OOO.

c) { 70,000 sr6)ob dori EDd.greDnd.

d) o$o$d d)eej idde t 24,000 a$d? Cirotu d:eej { 4S,OOO.
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8. Following is the Balance sheet of ONGC Ltd. as on 31 -03-2023.

Liabilities t Assets {
Equity share capital 5,00,000 Land 9,00,000

8% Preference capital 4,00,000 Plant 8,00,000

Reserves and surplus 4,00,000 Stock (Closing) 3,00,000

97o Debentures 6,00,000 Debtors 2,00,000

Current liabilities 4,00,000 Bank 90,000

Prepaid expenses 10,000
23,00,000 23,00,000

Additiona! lnformation :

Sales during the year {8,00,000, Cost of goods sold { 6,00,000, Administrative
expenses t 1,12,000, Commission and Discounts earned { 12,000, Loss on
sale of Machinery < 34,000, Profit on sale of Building { 54,000.

You are required to calculate :

a) Current Ratio b) Liquid ratio

c) Stock turnover ratio d) Gross profit ratio

e) Operating cost ratio f) Net profit ratio

g) Debt-equity ratio h) Solvency ratio

i) Proprietary ratio

ONGC Otu[,3c6ddd s& $q aidrr,rroo d[.3,r31-03-2023d0d: * d9dodo8d.

ililililililflililfiil]rilrtill

rssr,Dod$to
sadndrded: uodaad

87" udrao ded: z^;odaas

a)eier d:d; dald

9% me.td$rl*l:

{,ir;d doi6naodrl$:

(j&d$t

dJaa)

oJ:o$rl$:

ubro-"rrq,

zvo. od:
d
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t
5,00,000

4,00,000

4,00,000

6,00,000

4,00,000

t
9,00,000

8,00,000

3,00,000

2,00,000

90,000

10,000
23,oo,ooo23,00,000

drozid Fod8rrd dqfS,
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J-cJ-r-o a.cp(, N c^Iro€g .
z,

drrur[i - < 8,00,000, dDoitJdod idtd dre,,- { 6,00,000, erdedd dq -
t 'l ,'12,000, da:edo6 dJ& oolDoorc rlgts)d) - < 12,000, o$o$ d:aoatld dreod

d{ - t 34,000, dr^ld dJaoE[3d d)eod C'J?"J { 54,000.

dod:b6ol:0 :

b) dd srd)od

d) ?"ux"reD?.Pd crd)od

0 odd$ en$ ed:aad

h) me*l er$.!-ad

rililrilfl ililrlllll lllll lllr llll

Glaxo Smith

a) ziaq edraad

c) oaradr dbE Jt$ erabEad

e) aoarz3ddo$ dz*d sd:od

g) Do-d33d[,3 ed:od

i) m;i:rd ed>rod.

9. From the following Balance sheets of Nestle Ltd. and Glaxo Smith Ltd.,

you are required to prepare a common size statement and comment.

Liabilities Nestle

{
Equity shares 6,50,000

Preferenceshares 3,00,000

Reserves 2,50,000

Long term loans 9,00,000

Bills payable 60,000

Glaxo Assets

Smith

T

3,60,000 Land

Outstandingexpenses 10,000 4,000 Stock

40,000 14,000

9,00,000 4,40,000

2,00,000 Machinery 7,00,000 5,00,000

4,00,000 lnvestments 1,00,000 60,000

5,00,000 Cash and Bank 1,10,000 40,000

30,000 Prepaid expenses 60,000 28,000

Nestle

3,40,000 4,40,000

Creditors

22,1O,0O0 15,09,000 22,1O,OOO 15,09,000
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Nestle
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Glaxo

Smith

{

4,40,000

5,00,000

60,000

40,000

9-

Nesfle Otut3cr a:4 rqAn :Us6 Otut3c6 dodoiig (J& d)dlt36asDo dqddf\do.gd.

xadnd, riagd dr^loldtrdo3Do$ d)d) adJ&,q,.

ESEDZ,DOIIq'J
co

Nestle

{

Glaxo esadd)

Smith

3,60,000 ?iraa)xod>d, ded:iiejo 6,50,000

udrco decbrl9:

A)eioJ

9,00,000

3,00,000 2,00,000 oJ)o$it*t 7,00,000

2,50,000 4,00,000 dJaadil$ 1,00,000

AeryDFdQ Eae 9,00,000 5,00,000 dzirb $d: t,r*cd 1,10,000

aef md.gBdeSdrc& 60,000 30,000 d>orld 6Dd.aA)d

6-t daJdq) 10,000 4,000 dqrs, 60,000 28,000

40,000 14,000 ooxad: 3,40,000 4,40,000

22,10,OOO 15,09,000 22,1O,OOO 15,08,000

10. State with reasons whether the following transactions result in the increase or

decrease of working capital or do not affect the working capital.

i) A company issued 10,00,000 shares of t 10 each at par.

ii) Cash collected from Debtors t 50,000.

iii) Cash paid to creditors { 1,50,000.

iv) Short term investments sold t 55,000.

v) Discount on issue of Debentures written off t 5,00,000.

vi) Dividend paid t 45,000.
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Land and

13,80,000 13,80,000 Building 9,00,000 9,00,000

Protit and

Loss A,/c 96,000 1,38,000 Plant 3,12,000 4,20,0oo

63624

vii) Debentures of { 10,00,000 were converted into equity.

viii) Bills payable settled t 38,000.

ix) lncome Tax paid < 44,000.

x) Bad debts written off were recovered { 49,500.

dgiieeAdrddbdar"lrlqbEnddarouoda"gd$4daqFDddrae,daubohAn:{dne

ufiaa udenddolDz$dAeJ&e aod) fJdsa i6od.99&.

i) t-od: Boioi:: 10,00,000 ded:rfddlt 10 d dD$ ?.JeJri OeAd;.

ii) abrdd9od ddd dea 50,000.

iii) me.:oadori PeAd dsa 1,50,000.

iv) e:errdQ d.roaddcro < 55,000 Eod>uoeaaRd.

v) a?.Jorid d:eOd oojno0:g t 5,00,000 diid>oadond.

vi) enqnod 0eBd t 45,000.

vii) { 10,00,000 deJo$ adosS6il9r de&rlvER d>aard: erhd.

viii) aer:_aoderd€3&C& t 38,000 mdgP:d.

ix) eoaod: dori { 44,000 aad.aPrd.

x) &ood ddrd ddd; saer 49,500 * ddr boddad:dld:.

11. From the following Balance Sheets of Vikram Sarabhai Ltd., Prepare a Cash

Flow Statement (lndirect Method) (AS - 3).

Liabilities 31-03-2021 31-03-2022 Assets 31-03-202131-03-2022

t{tt

Equity share

Capital
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Reserves 3,60,000 3,60,000 Short term

Bills payable 2,40,000 2,64,000 Stock 4,92,000 6,36,000

Creditors 6,18,000 5,76,000 Debtors 4,02,000 2,58,000

O/S Expenses 78,000 72,OOO Cash 5,40,000 5,28,000

Prepaid

Expenses 6,000 24,ooo

33,12,000 32,10,000 33,12,000 32,10,000

Additional lnformation :

a) 15% Dividend was paid during the year.

b) Depreciation written off on land and building t 90,000

c) Plant was purchased for T 1,80,000

agd56 ;rruo?Doo) Oturj65ddd era d:d: ?3dJrf,Joo dt3 d$dodogd. dild: deld
dr.3 ol:d1 (t ndirect Method) (AS-3) dolDoA.

63624

md>d, dedl
r^;oda-og

e>d ee
dd and

€J

'13,80,000 .t3,80,

6-?^ 6\r -J-J-q.!erc^,/., s^\rgJ

000 dBditd)

31-03-2021 31-03-2022

{t

9,00,000 9,OO,OOO

o 31-03-2021

{
31-03-2022 u&rl$i)

t

96,000 1,38,000 rEdd
a 3,12,000 4,20,000

Long term loan 5,40,000 4,20,000 lnvestments 6,60,000 4,44,OOO

d) Old plant costing t 72,000 was sold for { 60,000.
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4,44,000

6,36,000

2,58,000

5,28,000

24,OOO

32,10,000

A)eiC)) 3,60,000 3,60,000 (,eDde

AeqsrrdQ xDo 5,40,000 4,20,000 doadr.lsr 6,60,000

EodsJerod a)e.D 2,40,000 2,64,000 6Ded) 4,,2,OOO

me.roodd: 6,18,000 5,76,000 rbsrrlsr 4,O2,OOO

rra6 d?djd$ 78,000 72,000 drtd) 5,4o,ooo

dr:orld 6idg:Jd

dqfs, 6,000

33,12,000 32,10,000 33,12,000

d{ddnEcs:

a) 15"/" entpod d$d ddrdo-od,3icDnd.

b) c1Dtu abdl d[*d?is abeod idde t 90,000

c) xa*dd sDoeaArdJ.t 1,80,000.

d) dSo! qdd { 72,OOO zieJo$cb.t 60,000 do dnoao dDd€rond.


